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Sl XABBE 2F B4 CEEEED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
2SS4 2,198,532 2,297,427 98,895
= 11,264
< 24,024
Al 2,163,244
F2sAtY =& 2,099,064 2,202,440 A~ 103,376
= 11,264
< 24,024
Al 2,063,776
NAHES =F &4 134,485 366,814 A 232,329
= 8,360
Al 126,125
AR HE3 W= 20,670 10,700 9,970
201 2et24d] 17,310 4,920 12,390
01 At 22l 13,590 1,200 12,390
O1 gt=2Hl 13,590
DAIRIEES e 29 100,000& =123 1,200
DAIRIEESWEE Wi 2+
5,900& x2, 100 12,390
02 2524l 3,720 3,720 0
O3 A& & Hl s Xt 3,720
PAQFEESNSE I RALS>
46,500, 000% *8/100 3,720
202 O4dl 3,360 3,360 0
01 = LH 4 Hi 3,360 3,360 0
OAN2IEESWN=E 29 280,000& »12& 3,360
dEs0ts 22 21,100 21,100 0
201 Ler24] 7,700 7,700 0
01 At 2t 2l 500 500 0
O1 Ler==2H| 500
PELSOSE 222 HMA 500,000 » 14! 500
02 =224l 7,200 7,200 0
O3 A€ ZHI =Xt 7,200
DEES0E EHOIX X2+
300,000 204 2 +12& 7,200
202 044l 8,400 8,400 0
01 SLHOYI 8,400 8,400 0
O&Esi0ls 24 700,000& 123 8,400
301 LAz 5,000 5,000 0
09 BAAHIE &S 5,000 5,000 0
OZFEZs0tsS &AL &4 2 vix ot
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SHOIX 29 43,598 262,595 A 218,997
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201 fEt2E | 38,558 57,555 18,997
01 At 2t 2l bl 2,700 2,700 0
O1 eit=ZH] 2,700
DEHOIXNES A= 2
2,500,000 * 14 2,500
DIt BAEN Al 200,000& » 14| 200
02 324l 35,858 54,855 A 18,997
O1 3323 % HAl 2,060
>EHOIX AH&0 MHIA OS2
2,000,000 * 14 2,000
DEME AEZ 30,0008 25 60
O3 A€ &Hl |Xlbl 33,798
DEMHOIX SEAMNAE S|IAE=
171,000,000 +10/100 17,100
DFA SHOIX S/W =X
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HE30tE 24 (2HAENY) 26,880 27,432 A 552
& 3,360
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307 glztol & 26,880 27,432 A 552
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02 (I BAAMHEE 26,880 27,432 A 552
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26,880,0003 » 14| 26,880
S 3,360
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02 s5=9Hl 3,237 3,237 0
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d230ts NHEe =8 282X 9,000 10,000 A 1,000
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ool ISP S Jler2 st (SH9: &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
DMSEZEANAE S/WRE
96,500, 0002 *15/100 14,475
DESHITE L2I0IAMLAE RAB+
29,200,000% *15/100 4,380
DESEWY ¥ FENJZANLE RAES
131,261,000& *8/100 10,501
De-XAtZ20tAIAE S/W S KB+
50,080,000% *15/100 7,512
DESIE SEAECXN RAES
190,400,000 *8/100+9% / 122 11,424
202 O4Hl 5,040 5,040 0
01 = LH 4 Hi 5,040 5,040 0
O33JIEtAIAE 2 420,000 x12& 5,040
308 XXM SOl A 124,056 0 124,056
10 BSOS BAEH A 124,056 0 124,056
OZ3JIgt d&4EH L M= 2AIAE S
&= 114,056, 000& 14! 114,056
OXNLgHEZISSHEANAE MEIAOAR 2
10,000, 000& * 14! 10,000
405 RHoHE S HI 256,000 333,000 ATT7,000
01 AL EZFH S 256,000 333,000 ATT7,000
OHAX WHZRALEY T
256,000,000 =14 256,000
JlEael AIAE 2 113,680 113,680 0
201 €24l 106,960 106, 960 0
01 At 22l 99,160 99,160 0
O1 et=2Hl 96,360
DISSEEMIH(EELT,E28 MEX L2
E8HX 8) 250,000& »12& 3,000
DHEEISHEAAG WA
13,200, 0002 14! 13,200
DIIEE 2=2A 250,000& 1228 3,000
De2tal QIS (SEX 2 63)
1,000,000& =122 12,000
DOXNE M) 22F(8,¢43)
850,000& »12& 10,200
PEMMS Y 4,580,000 x1CH*128 54,960
O3 2d=¢ 2,800
PEESNA2AS FAsY
70,0003 x321%123] 2,520
DIIESEIYE &N =
70,0003 201 %23 280
02 =24l 7,800 7,800 0
O1 3323 ¥ MA 2,400
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5 - 4
S - MBS (BH) - NRAY - BAS %@i HD=2
DEANLS QES(EH) 200,000 x12& 2,400
O3 AIE&Hl |AXlH] 5,400
D et2tAl Yl SXEL (A 2 48)
300,000& x12& 3,600
DIIE2ESH MG AHA HH SAE=(AMY
Q| 3&) 150,000& »12& 1,800
202 04| 6,720 6,720 0
01 2L I 6,720 6,720 0
OJIEE &2 g2 560,000& x12& 6,720
HNUEN AAE 29 87,180 87,280 A 100
201 LBt Y| 61,680 62,180 A500
02 2224 H| 61,680 62,180 A500
O3 A& &H| ®XHI 61,680
DIIE2CIAAE HWSXES
250,000,000 *8/100 20,000
DIOIE2CIAAE S/W SIS
180,000,000 *12/100 21,600
>2-Utet AIAE S K E 4 (H/W)
176,000,000 *8/100 14,080
>2-Utet AIAESKE2(S/W)
0,000,000 *12/100 6,000
308 MXISHHMSOIA 25,500 25,100 400
10 B 2SO USAEAXND AN 25,500 25,100 400
O2-LIetAlAE MHIAAT RAE2%
20,200,000 1Al 20,200
OREIDOIAIAE S/W X2
5,300,000 =14l 5,300
oINS 23 90,300 22,000 68,300
201 gEt24Hy| 81,300 0 81,300
01 AP 2t 2] d| 81,300 0 81,300
O1 LBt=2H| 81,300
DIICIAEE HIA0|g2A2s2E 2
13,550, 000& =6 4! 81,300
405 XH&HF S HI 9,000 0 9,000
01 XAt =2 F S HI 9,000 0 9,000
OJMeIAE 0|2 s3268 22N H 2
9,000,000 «1LH 9,000
AN B2ED|BAIAE S WA X2 31,171 48,885 N17,714
= 8,246
Al 22,925
201 et 9| 31,171 48,885 N17,714
= 8,246
Al 22,925
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0% 02 0

SEMD
EENERES
BYEs JlHYs

SN BB (HA) - MM - BES il HREZ
01 AFR2t2ltl 31,171 48,885 AT,714
06 gtz 31,171
DAZASSI S EH UM 22
31,171,000& » 14| 31,171
= 8,246
Al 22,925
ANZT MHolERAIAE 2= X2 13,109 0 13,109
= 3.018
Al 10,091
201 L Et2E | 13,109 0 13,109
=2 3.018
Al 10,091
01 At 2teltl 13,109 0 13,109
O6 21tz 13,109
DA HHEFRAIAE &Yl 2lAZ2
13,109,000 * 14! 13,109
2 3.018
Al 10,091
HPESHUAL QT2 DT 944,240 823,114 121,126
< 15,664
Al 928,576
HHEE SUY 293 601,264 605,224 A 3,960
201 Let24d] 594,544 595, 144 A 600
01 At 22l bl 2,800 2,800 0
O1 get=2Hl 2,800
DFAX 2232 7¢ 140,000 »5CH x4 3] 2,800
02 232gHl 591,744 592,344 A 600
O1 3322 ¥ HA 591,744
DCOIOE 2d ALER 390,648
O&E 6,100,000 «12& 73,200
01Nz 3d ASE (ML, S8S,JIEH
24,920,000 «12& 299,040
OS42 sId ASE(AEA SES)
1,534,000& «12& 18,408
DLESAIE R 14,500,000 «12& 174,000
D> OIEf Y (ADSL) 3l& AlE2Z  858,000& *12€ 10,296
D2 KO AL XI(SMS) AFEE 1,400,000& * 12 16,800
202 04l 6,720 10,080 A 3,360
01 SLHOYI 6,720 10,080 A 3,360
Odd 32 29 560,000& x12& 6,720
HIESAUAE - FHHl |2 282,616 168,835 113,781
201 LEt2A | 113,826 132,335 A 18,509
02 2324l 113,826 132,335 A 18,509
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O3 A€ &Hl |XlHl 113,826
DAUHDSEH S+
639,537,000 *6/100%1. 1 42,210
DUERKIIEH SN2+
153,936,000 6/ 100+ 1. 1 10,160
DUWEAAY SANES
638,707,000 *6/100%1. 1 42,155
DEALTANAE(IPS) RAE S
27,936,000% «6/100*1. 1 1,844
Dotas o AlAE X2
30,947,000 *6/100 1,857
DM MAEX(UPS) RXNE=
60,000,000 *6/100 3,600
> ZHl /A B+ 1,000,000& =122 12,000
202 04l 5,040 0 5,040
01 = LHA Yl 5,040 0 5,040
OZFESH AEXHSZA 294 420,000 x12& 5,040
405 RHoHE S HI 163,750 36,500 127,250
01 AL EZFH S 163,750 36,500 127,250
OUERZA 29X #*¢ 1,400,000 *5CH 7,000
OIPE I 2 550,000& »50CH 27,500
OUAAX WA 49,500,000 »2CH 99,000
Olp2telAlAE 1Y 1,650, 000& *5CH 8,250
OZFESHASHZA EFFH 7 22,000
DAUIE &5 SFDI 21,000,000& =14 21,000
PEIMEY FEHI 1,000, 0002 = 1CH 1,000
HEZUANLYTUY AF (NI AMY) 14,400 0 14,400
< 2,880
Al 11,520
402 RIZEX20| A 14,400 0 14,400
< 2,880
Al 11,520
02 LA TEALEZ(0IETHR) 14,400 0 14,400
Os0E 204 Ity 2=
14,400, 000& 14 14,400
< 2,880
Al 11,520
2ZEHGE Ast R Ze RF(INHAEEXA) 45,960 49,055 A 3,095
= 12,784
Al 33,176
402 RI2EX20l A 45,960 49,055 A 3,095
< 12,784
Al 33,176
02 22t EAIL EZ (01X S) 45,960 0 45,960
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